
Boxes
Bharat

Rajesh

Mayur

Hitesh

34

38

72

23

Ravi 90

Himanshu 48

Simran 71

Pooja 54

Rupal 78

Sanjay 29

Boxes

(1) If all of them gives their Boxes to an orphange, then the orphange will have______ Boxes more/less than 

200.

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(2) Sanjay has_________Boxes less/more than 2 dozen Boxes. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(3) Himanshu gave all his/her Boxes to Ravi Now Ravi has_______ Boxes more/less than Simran. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(4) Hitesh takes 8 Boxes from Pooja and gives 10 Boxes to Rajesh , then Hitesh is left with_______ Boxes. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(5) Himanshu sold all the Boxes for Rs.5 per unit, and deposited the money in his/her piggy bank, how much 

amount he/she put in the piggy bank. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(6) Sanjay sold all his/her Boxes for Rs.1000, which he/she bought at Rs. 9 per unit. How much profit or loss was 

made in the transaction?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(7) Simran Purchased the  Boxes at Rs. 10 per unit and sold all of them at Rs. 12 per unit, What amount did 

he/she earn as profit?

Solution:_____________________________________________________________________ 

____________________________________________________________________________
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(8) Bharat sold all his/her Boxes at Rs. 6 per unit and Mayur sold all his/her Boxes at Rs. 7 per unit, then what is 

the difference in their earning?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(9) How many Boxes does Ravi need so she/he can distribute all the Boxes equally among 5 persons and no unit 

is left?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(10)Ravi sold all his/her Boxes at Rs. 15 per unit. From the amount he/she bought a toy worth Rs. 500. What is 

the difference between his/her receipt and spending?

Solution:_____________________________________________________________________ 

____________________________________________________________________________
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Apples
Bharat

Rajesh

Mayur

Hitesh

11

35

71

25

Ravi 90

Himanshu 41

Simran 76

Pooja 60

Rupal 72

Sanjay 24

Apples

(1) If all of them gives their Apples to an orphange, then the orphange will have______ Apples more/less than 

200.

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(2) Sanjay has_________Apples less/more than 2 dozen Apples. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(3) Himanshu gave all his/her Apples to Ravi Now Ravi has_______ Apples more/less than Simran. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(4) Hitesh takes 8 Apples from Pooja and gives 10 Apples to Rajesh , then Hitesh is left with_______ Apples. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(5) Himanshu sold all the Apples for Rs.5 per unit, and deposited the money in his/her piggy bank, how much 

amount he/she put in the piggy bank. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(6) Sanjay sold all his/her Apples for Rs.1000, which he/she bought at Rs. 9 per unit. How much profit or loss 

was made in the transaction?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(7) Simran Purchased the  Apples at Rs. 10 per unit and sold all of them at Rs. 12 per unit, What amount did 

he/she earn as profit?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

www.learnersplanet.com

Name: ___________________ Date: ____/____/______ Score___________

Word problems mixed operations level-3



(8) Bharat sold all his/her Apples at Rs. 6 per unit and Mayur sold all his/her Apples at Rs. 7 per unit, then what 

is the difference in their earning?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(9) How many Apples does Ravi need so she/he can distribute all the Apples equally among 5 persons and no 

unit is left?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(10)Ravi sold all his/her Apples at Rs. 15 per unit. From the amount he/she bought a toy worth Rs. 500. What is 

the difference between his/her receipt and spending?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

www.learnersplanet.com



Bananas
Bharat

Rajesh

Mayur

Hitesh

44

31

80

27

Ravi 86

Himanshu 41

Simran 79

Pooja 53

Rupal 74

Sanjay 41

Bananas

(1) If all of them gives their Bananas to an orphange, then the orphange will have______ Bananas more/less 

than 200.

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(2) Sanjay has_________Bananas less/more than 2 dozen Bananas. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(3) Himanshu gave all his/her Bananas to Ravi Now Ravi has_______ Bananas more/less than Simran. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(4) Hitesh takes 8 Bananas from Pooja and gives 10 Bananas to Rajesh , then Hitesh is left with_______ 

Bananas.

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(5) Himanshu sold all the Bananas for Rs.5 per unit, and deposited the money in his/her piggy bank, how much 

amount he/she put in the piggy bank. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(6) Sanjay sold all his/her Bananas for Rs.1000, which he/she bought at Rs. 9 per unit. How much profit or loss 

was made in the transaction?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(7) Simran Purchased the  Bananas at Rs. 10 per unit and sold all of them at Rs. 12 per unit, What amount did 

he/she earn as profit?

Solution:_____________________________________________________________________ 

____________________________________________________________________________
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(8) Bharat sold all his/her Bananas at Rs. 6 per unit and Mayur sold all his/her Bananas at Rs. 7 per unit, then 

what is the difference in their earning?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(9) How many Bananas does Ravi need so she/he can distribute all the Bananas equally among 5 persons and no 

unit is left?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(10)Ravi sold all his/her Bananas at Rs. 15 per unit. From the amount he/she bought a toy worth Rs. 500. What is 

the difference between his/her receipt and spending?

Solution:_____________________________________________________________________ 

____________________________________________________________________________
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Marbles
Bharat

Rajesh

Mayur

Hitesh

44

31

80

27

Ravi 86

Himanshu 41

Simran 79

Pooja 53

Rupal 74

Sanjay 41

Marbles

(1) If all of them gives their Marbles to an orphange, then the orphange will have______ Marbles more/less 

than 200.

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(2) Sanjay has_________Marbles less/more than 2 dozen Marbles. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(3) Himanshu gave all his/her Marbles to Ravi Now Ravi has_______ Marbles more/less than Simran. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(4) Hitesh takes 8 Marbles from Pooja and gives 10 Marbles to Rajesh , then Hitesh is left with_______ Marbles. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(5) Himanshu sold all the Marbles for Rs.5 per unit, and deposited the money in his/her piggy bank, how much 

amount he/she put in the piggy bank. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(6) Sanjay sold all his/her Marbles for Rs.1000, which he/she bought at Rs. 9 per unit. How much profit or loss 

was made in the transaction?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(7) Simran Purchased the  Marbles at Rs. 10 per unit and sold all of them at Rs. 12 per unit, What amount did 

he/she earn as profit?

Solution:_____________________________________________________________________ 

____________________________________________________________________________
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(8) Bharat sold all his/her Marbles at Rs. 6 per unit and Mayur sold all his/her Marbles at Rs. 7 per unit, then 

what is the difference in their earning?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(9) How many Marbles does Ravi need so she/he can distribute all the Marbles equally among 5 persons and no 

unit is left?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(10)Ravi sold all his/her Marbles at Rs. 15 per unit. From the amount he/she bought a toy worth Rs. 500. What is 

the difference between his/her receipt and spending?

Solution:_____________________________________________________________________ 

____________________________________________________________________________
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Pencils
Bharat

Rajesh

Mayur

Hitesh

44

31

80

27

Ravi 86

Himanshu 41

Simran 79

Pooja 53

Rupal 74

Sanjay 41

Pencils

(1) If all of them gives their Pencils to an orphange, then the orphange will have______ Pencils more/less than 

200.

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(2) Sanjay has_________Pencils less/more than 2 dozen Pencils. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(3) Himanshu gave all his/her Pencils to Ravi Now Ravi has_______ Pencils more/less than Simran. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(4) Hitesh takes 8 Pencils from Pooja and gives 10 Pencils to Rajesh , then Hitesh is left with_______ Pencils. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(5) Himanshu sold all the Pencils for Rs.5 per unit, and deposited the money in his/her piggy bank, how much 

amount he/she put in the piggy bank. 

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(6) Sanjay sold all his/her Pencils for Rs.1000, which he/she bought at Rs. 9 per unit. How much profit or loss 

was made in the transaction?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(7) Simran Purchased the  Pencils at Rs. 10 per unit and sold all of them at Rs. 12 per unit, What amount did 

he/she earn as profit?

Solution:_____________________________________________________________________ 

____________________________________________________________________________
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(8) Bharat sold all his/her Pencils at Rs. 6 per unit and Mayur sold all his/her Pencils at Rs. 7 per unit, then what 

is the difference in their earning?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(9) How many Pencils does Ravi need so she/he can distribute all the Pencils equally among 5 persons and no 

unit is left?

Solution:_____________________________________________________________________ 

____________________________________________________________________________

(10)Ravi sold all his/her Pencils at Rs. 15 per unit. From the amount he/she bought a toy worth Rs. 500. What is 

the difference between his/her receipt and spending?

Solution:_____________________________________________________________________ 

____________________________________________________________________________
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